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CBOVICTBA ITIPEOBPA3BOBAHUS JIAIIJIACA
1) JIuHEHHOCTD W300paKEHHUS: a-TO)+4-9@t) = a-F(p)+L£-G(p).
2) Teopema mo1o0ust: f(at) = 1 F(B)
a \«a
3) Teopema 3ana3IbIBaHUS: ft—7) = e "P.-F(p)
4) Teopema cMeLICHUS: et f(t) = F(p-1)

5) duddepeHimpoBaHie OpUrnHaia;
F'(®) = pF(p)-(0)
f(t) = p-[pF(p)— f(0)]- f'(0) = p*F(p)— pf (0)- f'(0)
fr(t) = p-[pZF(p)— pf (0)—f ’(0)] —£"(0)=p3F(p)-p? f (0)—pf '(0)— f ""(0)
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1) = pF(p)-p" V(0 - p P 1(0) ... pf () - £ " (0)
6) duddepenimpoBanne n300paKeHus

F'(p) = —t-f(t), F"(p) =t>-f(), ....... . FM(p) = (D" -t"- (1)

t
7) UHTerpupoBaHie OpUrHHAIA; j f(t)dt = F(p)
0

p

8) UnTerpupoBanus n300pakeHUs @ = j F(p)dp
p

t
9) YMHOKEHUE H300paXKEeHUH ! F(p)-G(p) = j f(r)-g(t—-7)dr
0

f(t)*g(t)
10) ®dopmyna Jlroamerns:

t
f(0)-g(0)+] f'(z)-g(t-r)dz = p-F(p)-G(p)
0

f'(t)=g(t)



